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® C nomoubio $
TPAHCITOPTUNPA usmepbTe

YI'Abl TPEYIrOAbHUKaA.

® Hanamute cymmy Bcex yraos.



- CyMmma yraos
TpeyroAbHMKa




[1aHo: A ABC
[lokazaTtb: LA+ B+ £ C=180°

AokazaTteAbcTBO:1)a||AC,B € a
2) £L4=/1, kaK
HAKPECT JieKalue

3) £5=/2, kak
HAKPECT JieKalue

4) LA4+L3+ L5=
180°, .. ZB —
Pa3BEePHYTHIN
5) L1+23+ £2 =180

NI

ZA+/ZB+ZC=

a



® B nepBou KHure  EBkAMA
«Hauvaa»
EBKAMAQ cOAEpXKAaAOCDH
AOKa3aTeAbCTBO TEOPEMDbI
«O CcyMMe YrAoB TPeyroAbHMKa
NOMOLLbLIO PUCYHKA:

4 I_IPOKA a\ -

A reomepT MpokA | " |
YTBEPXKAQAA,
4YTO 3Ty TeopeMmy = .
rnepBbie AOKa3a ' : ‘
NMudarop u ero yqel-lm(u.
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JlomaimHee 3agaHue:
n.30,Ne223a,0.

3aganue: Hautu ominoOKy



